Mack T11 versus T10A MRV                                                                     

Two Sample t-test for the Means of MRV within Type                                                                                      

    Sample Statistics                                                                                                                   

         Group          N      Mean    Std. Dev.   Std. Error                                                                           

         T10A          33  13180.45      566.91       98.687                                                                            

         T11           22  15109.82        1073       228.76                                                                            

    Hypothesis Test                                                                                                                     

         Null hypothesis:    Mean 1 - Mean 2 =  0                                                                                       

         Alternative:        Mean 1 - Mean 2 ^= 0                                                                                       

         If Variances Are    t statistic      Df       Pr > t                                                                           

         Equal                 -8.693         53       <.0001                                                                           

         Not Equal             -7.744      28.89       <.0001                                                                           

    95% Confidence Interval for the Difference between Two Means                                                                        

                   Lower Limit    Upper Limit                                                                                           

                   -2374.53       -1484.20                                                                                              

Two Sample t-test for the Means of lnMRV within Type                                                                                    

    Sample Statistics                                                                                                                   

         Group          N      Mean    Std. Dev.   Std. Error                                                                           

         T10A          33  9.485605      0.0426       0.0074                                                                            

         T11           22  9.620725      0.0703        0.015                                                                            

    Hypothesis Test                                                                                                                     

         Null hypothesis:    Mean 1 - Mean 2 =  0                                                                                       

         Alternative:        Mean 1 - Mean 2 ^= 0                                                                                       

         If Variances Are    t statistic      Df       Pr > t                                                                           

         Equal                 -8.882         53       <.0001                                                                           

         Not Equal             -8.078      31.30       <.0001                                                                           

    95% Confidence Interval for the Difference between Two Means                                                                        

                   Lower Limit    Upper Limit                                                                                           

                      -0.17          -0.10
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